==
N = 0 &8 AF S H N A
2016 = = 1 3 LESIH MAE
S &0
HE: UF=MWE 25
Gl MEgSR =&
ojerot ‘If ok -
585,439 464,474 120,965
40,000 0 40,000
545,439 464 474 80,965
554,839 436,274 118,565
40,000 0 40,000
514,839 436,274 78,565
554,839 436,274 118,565
o= 40,000 0 40,000
Al 514,839 436,274 78,565
KA 20 dRFX 201,456 197,956 3,500
201 Y Er2AH] 104,855 101,355 3,500
01 At 22l 83,025 79,525 3,500
O=2 | 3,500 0 3,500
OBOIAD RN (HEE 5008H)
500, 000& »4 1 & & 2,000 0 2,000
0ZIl Y MEEHET OIMES
1,500,000 1,500 0 1,500
HEst ArEE 108,423 76,423 32,000
207 I ] 22,000 0 22,000
02 M AR EHH] 22,000 0 22,000
OXEM HSA$ADES AMAE IE("15E E
HDEM) 22,000,000& 22,000 0 22,000
405 KHAFE S HI 10,000 0 10,000
01 MM EEFH=H| 10,000 0 10,000
OHEXE IUAMNAY ASIHL('15E S8
2Al) 10,000,000& 10,000 0 10,000
sst ALES(SH]) 40,000 0 40,000
< 40,000 0 40,000
202 (4 Hi 40,000 0 40,000
& 40,000 0 40,000
01 ZLHO Y] 3,600 0 3,600
O HEXNEM 24 ES2Z0EI(FHEANESO)
3,600,000& 3,600 0 3,600
T 3,600 0 3,600
04 =M 3t HI 36,400 0 36,400
O NN SLD2H A2 Holoin(2
HAIE SO 36,400,000& 36,400 0 36,400
== 36,400 0 36,400
MM = HRFA 43,085 0 43,065
201 2 EtE2FH| 39,065 0 39,065
01 AP 221 H] 13,480 0 13,480
Oget+2H| 11,800 0 11,800
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S HED
HE: =Y BE
cel NEYR =X
—rkl x"‘” q—rl(zllll) kﬂ‘:’M@ 0ff AboH
T AN -Y == IAONN S0
50,0002 ¥302 A x43] 6,000 0 6.000
oML MO A oS HE
65,0008 208t A 1,300 0 1,300
CHEMSAY S5 MADKAM 2Es &=
= H= 100, 0002 #4585+ A 4,500 0 4,500
o=z 1,680 0 1,680
OMEAHSIAY Ha Y AR AR
x 7, 0002 %22 * 120 1,680 0 1,680
2 zzegy 25,585 0 05,585
02222 ¢ HA 25,585 25,585
CHILY MUK SEF 2z
13,0002 *3002 *43] 15,600 0 15,600
CESN OB U HHE HHASI £AS
X 2 3 000! 2000 *23] 1,200 0 1,200
OHMER HMEHME(2U2 20,24 ) 0D
JURNCTN 1,930 1,50024 2895 0 2 895
CHET MUY HE (U2 B0 S) SENM &
& 1,9308%1,00024 1,930 0 1,930
CABEBRSAAY AIRS
330, 0008 * 122 3,960 0 3,960
202 014 4,000 0 4,000
01 2ot 4,000 0 4,000
OHZ M2 YR 22=7
20,0008 22 +502 2,000 0 2.000
ODZALUX HEE AF 20,0008 2% +50L 2000 0 2,000
™22 (ME D) 30,600 28,200 2,400
J=FU(ME D) 30,600 28,200 2400
= A (MED) 30,600 28,200 2.400
202 01 bl 26,400 24,000 2400
01 20t 26,400 24,000 2400
OZSEROH(ZXNE & =042)
100, 0002 #0224 » 122 2.400 0 2,400
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